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EXT—4

BERT—HAN
A4k TEST-DATA
ANIEE s -Riv] #iE k=
EETHMAKEEE 14 kN/m® 20.00
EEIREERA ) & 35.00
EETDOHEN c kN/m? 5.00
= E J B 23.33
EEERA Hh =R Se E 1750
BRETKEEE Kh - 0.12
HES—X R
& DKL thERFDAHEE
HAEDHKL ERHOHEE
JOv)iEgRDT—4
ANIEE s --Rivs #iE k=
mEEs H m 5.000
PEEE DA 1:N m 0.500
JoviER B m 0.350
AoV —RE T m 0.200
XimitE B1 m 0.100
HpET %Edﬁ B2 m 0.600
R E = T1 m 0.400
EBis T2 m 0.100
V) —hERKREEE rc kN/m® 23.00
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O DBHEBEAH1/30tER2/3)IZADE
EEIRED | ® QANMENB/2(ERKB/DLYEFIZHDIE
¥ E R O Q@aNENERATEICHAEWN &
O OTNEFEIRER (Fs=Mr./Mo)ZimT-9 &
ANEEB o) ==X iva B w5
e A = Fs - 1.50 |#75 H A
BEZEE ——— 20 188 ABEA
BEICTARESEH
ANEEB Eoaas ==X iva e w5
B A o flici Fs - 1.50
RBREE Hh = B Fse - 1.20
BUEE rr kN/m® 18.00
REREE A or E 30.00
RAN B #hE D Cr kN/m? 10.00
AMEAR Df m 0.700
AR R mERERK U - 0.600
EBAmon EBOHE ZEEIEIERNEEETD
2L ER R L ap | - | 0.50
HBOZFEAHIIHTEIRESY
g R HEDKRDA HEERIEHOIOVIBREROETEEAZAVS
HARMBRIFAEORDA Casel. ABMMBRIFNELXERANTS
ANEEB Eoaa) ==X iva B BE
SRS Hh iR i qa kN/m? 200 | CaselDige
XEHE Hh 2= B qae " 300 ANiE
A E Fs - 3.00
EAREES Hh = B Fse - 2.00
B ES rs | kN/m’ 20.00 .
XPpE | AEEERS | és | B 3500 | C5IoaE
& h Cs kN/m? 20.00
BANRZRAL RS Df’ m 0.700
ROLDEHNBEDZEDOEREIE 0
TEHEAT—4Z
RITIVHEABED CaseB. FEDAFEZANTAH(FIZARN)
feEAE MEARE w,=| 45 | )

X : CaseBHEAGES. IHIAEXANLTTIL,
- MHAEILNBERALYREVEHTIEELTTILY,

X : CaseAZEATIGE . AALE-HAEIIERINET,
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M EREA DR (158ET) FEFREANKR (2EBEET)

NO. XPEEZ Y EEFE NO. a(kN/m) Xb Xe
1 1.000 0.000 1 10.000 2.500 15.000
2 2.500 1.000 2

3 15.000 1.000

1 Yi

5

6

! EEEIE /5 (0, 0)

9

10

11

12

13

14

15

ADLUT-FEES = 3

MR S=1. | 150




TEHEE

AT VEICEDRAREIEDEE

TEST-DATA
CETEEH
- EHES—X BEETEOHE
- BEERESXEBEEEED) H= 5400 (m)
- R EIERA a= -26.565 (° )
- EETHEAKEES y= 20.000 (kN/m?3)
- BETNEERA o= 35.000 (° )
- EETHEE A Cc= 0.000 (kN/m?)
- HEAICKBEIES Zc= 0.000 (m)
- EHERA 8= 23.330 (° )
CETEHR
- BRRTEFELZTARYA w= 463 (° )
- TR A= 8.146 (m/m)
- THRES W= 162.918 (kN/m)
- HfRTE Q= 10.011 (kN/m)
- ExKIE PA= 35.005 (kN/m)
- KELE Ph=PAXcos(a+ &)= 34.949 (kN/m)
- $hETE Pv=PAX sin(la+ &)= -1.975 (kN/m)
TEOZEIL
40.0
350 | o&— ——
300 | N’\ w(E) P(kN/rm)
45.0 34.597
T 250 46.0 34.980
> 200 | 47.0 34.906
S ol 48.0 34.389
a = 49.0 33.445
100 50.0 32.086
50 | 51.0 30.320
00 . . . . . . 52.0 28.572
. 450 460 470 480 490 500 510 520 530 93.0 26.952
5 wmax(FE) | Pmax(kN/m)
o) 46.3 35.005




THERE

TEST-DATA [ Sca=1:| 50
= =
X(m) “ 0.00
1.00
2.00
3.00
4.00
X 5.00
" 5.40
Ym)
0.716
0.600
EET—2 BETEDFE
- RS EBEEED) H= 5.400 (m)
- BEEEEIERA a= -26.57 (° )
- SETEMAKEES Y= 20.00 (kN/m®)
- BETAEERA b= 3500 (°)
- BETEE S c= 0.00 (kN/m?
- B HIZEKBEIES Zc= 0.000 (m)
- BEERA 8= 2333 (° )
- xKEE PA= 35.01 (kN/m)
- SHOEREE d= 0.716 (m)



. [TEST-DATA

BH
8
H 5.000
B 0.350
0.200
1:N - 0.500 N
BH 0.615 == ~7
®
B1 0.100 v
B2(B) 0.600 C
0.400
0.100
Bl
|:| \
|
8
( )
kN/m kN Y kN
A 3.075 70.725 1.658 117.262 2.900 205.103
B 0.075 1.725 0.433 0.747 0.300 0.518
C 0.017 0.391 0.638 0.249 0.300 0.117
3.167 72.841 1.624 118.258 2.824 205.738
( )
kN/m kN Y kN
0.040 0.920 0.050 0.046 0.200 0.184
0.050 1.150 0.350 0.403 0.050 0.058
0.075 1.725 0.267 0.461 0.200 0.345
0.165 3.795 0.240 0.910 0.155 0.587
kN/m kN
v
72.841 0.000 1.624 2.824 118.294 0.000
3.795 0.000 0.240 0.155 0.911 0.000
-1.975 34.949 1.450 1.800 -2.864 62.908
74.661 34.949 1.558 1.800 116.341 62.908




a)

b)

>V

> 2 0

>V
116.341 - 62.908

74.661
0.716 (m)
( )
0.716 B/2 = 0.300 -- OK --
B 1/2

34.949 kN/m
74.661 kN/m

tan’(45+cr/2)
tan®(45+ 30.000/2)= 3.000
12y < >  +2x x+/ =<
1/2><18.00><0.700><0.700>< 3.000+2> 10.000>< 1.732><0.700
37.479

b >V CrB ap

=
0.600><74.661+10.000><0.600+0.500><37.479
34.949
69.536
34.949

1.990 1.500 ( ) —- OK --



12>V 89.593 149.322
B 0.600 kN/
q: (kN7 )
>V: (kN/m)
V= 74.661 (KN/m)
B: (m) = 0.600 (m)
(tan©)
tan©= ZH/XV
= 34.949 /74.661
= 0.47

gd=o K CNc Sc+k q Nqg Sq+1/2 ys [3 Be Nr Sr
qd:
Be : (m)
Be= B ( e )
= 0.600 (m)
e: (m)
e= B/2-d= -0416 (m)
a B « )
as= 1.000
B-= 1.000
C: =20.000 (kN/ )
q: (=yr Df) (kN/ )
q = yr>Df = 18.00>=<0.700
= 12.600 (kN/ )
yr: (kN/m®)
YS! (kN/m®)
Sc,5q,5r:
Sc = (C")™=(c/10)
= 0.794
Sq = (q)V=(a/10) "
= 0.926
Sr = (B")*=(Be/1.0)™/*
= 1.000
Nc,Ng,Nr :
Nc = 14.98
Ng = 10.13
Nr = 3.83
K.

K=1+0.3 Df / Be
= 1.35



gd=o K CNc Sc+k q Nqg Sq+1/2 ys [3 Be Nr Sr

= 1.000>1.35><20.00><14.98><0.794
+ 1.350><12.600><10.13><0.926
+1/2>20.00><1.000>=<0.600><3.83><1.000

321.141  + 159560 +22.980

503.681 (KN/ )

gmax = 149.32 (kN/ )

qd = 503.68 (kN/ )
Fs=qd / gmax = 3.373
Fsp = 3.00

Fs Fsp OK

-- OK --



B/2(

B/3)

-- OK --

-- OK --

-- OK --




